

2018016401467333

PRN:

Govt. of Maharashtras Ismail Yusuf College of Arts, Science and Commerce.

Near Jogeshwari East Railway Station., Mumbai, Mumbai City, (Maharashtra),

Jogeshwari (E) - 400060 University of Mumbai

Transfer Certificate Transfer Certificate Code:

Transfer Certificate Number: 2018217438





CERTIFIED that Shri/ Kumari/ Smt. PHATAK BHAVIK DNYANESHWAR has been a student of Govt. of Maharashtras Ismail Yusuf College of Arts, Science and Commerce..

 After Passing the B.Sc. Computer Science Examination in the year 2020-2021, He has kept terms in the college as under;

June..... (.....days) to October November..... (.....days) to March June..... (.....days) to October November..... (.....days) to March

Hewould have been in the class if He had continued in this college.

AFDKAIBKBJAHKAJJEABF

- HePassed/ Failed/ ATKT at the T.Y. B.Sc. CS Regular Rev16 Examination held in (March/October) 2020-2021 .
- He has no books belonging to this college in His possession.
- He owe nothing on account of college dues.
- His conduct and character are good.
- His Date of Birth in college register is 19 Jun 2000
- He has attended courses of instruction at this college in Voluntary Subjects or Group of Subjects :-
- He has satisfactorily carried out the practical work in Faculty of Science
- He has satisfactorily gone through the course of Physical Training prescribed by the University. He was exempted from physical training on medical grounds/ on the ground of His being a member of NCC

• He belongs to **Category: Open** as per record.

Date:

Forward with compliments to the Principal/Registrar_

Government of Maharashtra's

Ismail Yusuf College of

Principal

Arta Science & Commerce.

Govt. of Maharashtras Ismail Yusuf College of Arts, Science and Commerce.

Entered By :-

Checked by :-

Note: Transfer Certificate code given above will be required to admit the student in Digital College® software.



Bhavik Phatak,

7/133, D. N. Nagar,

And heri (west)

Mumbai - 400053.

TO,

Principal of Ismail Yusuf college

JOB eghwari (East).

Subject: - Application regarding Transference certificate-

Respected six/Madam,

I, Bhavik Phatak have completed 3 years of bathelor degree from computer science and I have passed out it successfully and willing to do Master Degree from thakur college.

so I request you to kindly help me with my
Transference certificate, as soon of possible. I have
Submitted all the document required and asked by
college staff. Thankyou for Anticipating.



Your faithfully, Bhavik.



Thakur Educational Trust (Regd.)

THAKUR COLLEGE OF SCIENCE & COMMERCE

(Autonomous College)

csc

Permanently Affiliated to University of Mumbai (NAAC Re-Accredited Grade 'A' [3rd Cycle] & ISO 9001-2015 Certified) Shyamnarayan Thakur Marg, Thakur Village, Kandivli (E) Mumbai 400 101 Tel.: 2846 2565, 2887 0627 *Fax: 2886 8822 @E-mail: tcsc@tcsc.edu.in Best College (2018-2019), University of Mumbai

Application Form for Claiming Online Digital / Offline Transference Certificate From the College last Attended

From		
Students Name	: Shri/Kum Bhavik. Drynneshwar Phatak	
To,		
The Principal	Ismail yusut collège of	
	Arts, commerce & science.	
Sir/Madam.		
I beg to state that	at I am seeking admission in MSC computer Science class at the	ne
	LEGE OF SCIENCE & COMMERCE, Thakur Village, Kandivali – East,	
Mumbai 400 10	01.	
I request you	to kindly send my ONLINE DIGITAL/OFFLINE TRANSDER	SENCE
	$\underline{\mathbf{E}}$ to the Principal of the said College.	TENCE
	T.YBSC · CS Class, Division Roll No. 13.	
	uring Semester of the academic year 2020 - 2021	v
	ed/Not Appeared at March 2021	
	March/October 2021	
Date of Birth:	19/06/2000	
PRN No.: - 20	18016401467333.	
	Your Faithf	ully
	Bravik	- •
 The studer An amoun The studer 	Signature of the compliments for favour of compliance-ents's date of birth may-kindly be supplied ant of Rs. 150/- is sent herewith. Ent with whom this application is sent has been instructed to pay the amount acc certificate fees to your College office.	
RINCIPAL 210	18121.	



ISMAIL YUSUF COLLEGE

JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060 (Affiliated to University of Mumbai) **GRADE CARD**

	Overall Grade - A	וביהיים		SEMESTER IV		SEMESTER III	SE	SEMESTER II	SEMESTER I	SEME
SGPI= 8.70	ΣCG= 174.00			s : 20.00	Earned Credits : 20.00	Ear	20.00	,	UCCESSFUL	Remarks : SUCCESSFUL
	30.00	10	3.00	0 -	1	0	3.00	+ USCS307	USCS305 + USCS306 + USCS307	USCSP302
	30.00	10	3.00	0	-	0	3.00	3 + USCS304	USCS302 + USCS303 + USCS304	USCSP301
	16.00	8	2.00	Α	0	Α	2.00	SKILL ENHANCEMENT: WEB PROGRAMMING	SKILL ENHANCEMEI	USCS307
	12.00	9	2.00	B -	0	D	2.00	PHYSICAL COMPUTING & IOT PROGRAMMING	PHYSICAL COMPUT	030300
Ø 70	20.00	10	2.00	0	Α	0	2.00	GRAPH THEORY	DIXXOLOGICO & GRAPH THEORY	30533311
	20.00	10	2.00	0	A+	0	2.00	EMENISYSTEMS	COMBINATORIOS STEMS	11505305
	16.00	∞	2.00	Α	Α	A	2.00		DATABASE MANIA	USCSOA
	16.00	α	1.00	*	c	0 +	2.00	Mo	OPERATING SYSTEMS	USCS303
		1	3	>		3	9		CORE JAVA	USCS302
	14.00	7 1	2.00	B+	0	റ	2.00	ion	Theory of Computation	100001
ΣC	CxG			OVERALL	IA	TH/PR	Credits		Thomas	1155301
SGPI=	-	Grade Points	Credits Earned		Grade		Course	Course Title		Course Code
	BEK ZU19	REGULAR OCTOBER 2019	VEGC		TWAR FOOLA	PHATAK BEAVIK DNYANESHWAR FOOSA	PHAIAI			
	2010	OTTO GA II	1330		ALOOG GVANF	DI AVIV DNIVANEC	BUATAL	13	2018016401467333	202
	Month & Year of Examination	& Year of E	Month		ner	Name of the Learner		Examination Seat No.	. KW/ Neg. No.	
	: III	SEMESTER : III	***					OMPUTER SCIENCE	PRN / BOS NO	
	Student Id 505092					GRADE CARD	GRA		MME: RACHELOS OF	PROGRA

Mumbai 11/2019

redits Earned = 20.00

SGPI = 7.90 Credits Earned = 20.00

SGPI = 8.30 Credits Earned = 20.00

SGPI = 8,70 Credits Earned = ---

SGPI = ---

Overall Grade = A

Checked By:

: Absent, --- : Not Applicable, @ : 5043, # : 0.229, \$: Carried Forward, / : Female

Chairperson, Exam. Committee



Principal

(Refer to grade table at the bar



Government of Maharashtra's

ISMAJE YUSUF COLLEGE

(Affiliated to University of Mumbai) SUBURBAN, HARDEVI SOCIETY, NATWAR NAGAR, JOGESHWARI EAST, MUMBAI, MAHARASHTRA 400060



	FIRIAN BHAVIN UNIANCULATION		100000000000000000000000000000000000000
REGULAR MARCH 2019(100)	DUATAK DUAYAK DAYANGSHWAR POOJA	14	2018016401467333
Month & Year of Examination	Name of the Learner	Examination Seat No.	PRN/Reg. No.
SEMESTER: 11		TER SCIENCE	PROGRAMME: BACHELOR OF COMPUTER SCIENCE
505092	GRADE CARD		
Student Id	TOTAL		

		-					Ci Carro	3011 - 1:30 Cledits called - 70:00 3011 - 0:30		- Autieu - 20.0
		_	SGPI =	SGPI = Credits Earned =	[= Cred		CCBI - 8 30 Cradite Farned =			E E E PO 00
 •	Overall Grade =: A	_	.*	SEMESTER IV		SEMESTER III	SEN	SEMESTER II	TER I	SEMESTER I
8.30	166.00			Earned Credits: 20.00	arned Cr	m	20.00		marks : SUCCESSFUL	narks : SU
=1d93	*CG-	C	2.00	A	1	A	2.00	- USCS206	Practical of USCS205+ USCS206	JSCSP203
	16.00	ສ	2 00	>		1000				1
	20.00	10	2.00	0	-	0	2.00	+ USCS204	Practical of USCS203 + USCS204	USCSP202
	20.00	10	2.00	0		0	2.00	+USCS202	Practical of USCS201+USCS202	USCSP201
	12.00	6	2.00	8	0	D	7.00	GIES	GREEN TECHNOLOGIES	USCS207
	14.00	7	2.00	8+	0	C	2.60	STATISTICAL METHODS & TESTING OF HYPOTHESIS	STATISTICAL METH	USCS206
۵. د	12.00	6	2.00	В	A	C	2.00	, dis-	CALCULUS	USCS205
)	16.00	α	2.00	A	A+	Α	2.00	S	DATA STRUCTURES	USCS204
	10.00	, 5	2.00	0	0	A+	2.00	1. The state of th	LINUX	USCS203
	20.00	5 5	2.00	0	0	A+	2.00	TH PYTHON-II	PROGRAMMING WITH PYTHON-II	USCS202
	20 00	5	3	;	AT	8+	2.00			0505201
	16.00	œ	2.00	Δ	2	3		ITU O	IN DISIMMADODD	
ΣC	3	(G)	(c)	OVERALL	IA	TH / DR	Credits	Course Title		Code
ΣCG /	C = 2	Grade Points	Credits Credits Grant Gr		Grade		Course			Course
COT			41			TIAIAN DHAVIN DI	7112	1.		
			_		くりろにびコくくと			-	PC+C+C+C+()	101

e : Mumbai

its Earned = 20.00

Checked By:

21/05/2019

Chairperson, Exam. Committee

Mythals

Seal of the College

132,2410

(Refer to grade table at the back

ve, AB : Absent, --- : Not Applicable, @ : 5043, # : 0.229, \$: Carried Forward, / : Female

Principal



Government of Maharashtra's

ISMAIL YUSUF COLLEGE

(Affiliated to University of Mumbai)

SUBURBAN, HARDEVI SOCIETY, NATWAR NAGAR, JOGESHWARI EAST, MUMBAI, MAHARASHTRA 400060

GRADE CARD

Student Id

	E . DACHE OB OF COL									505092	92
TROGRAME	PROGRAMME: BACHELOR OF COMPOTER SCIENCE	STOLER SCIENCE							SEMESTER: I	TER:I	
	PRN/Reg. No.	Examination Seat No.		Name of	Name of the Learner			Mon	Month & Year of Examination	of Examin	ation
201	2018016401467333	14	D	BHAVIK DNYANESHWAR PHATAK POOJA	HWAR PHAT	АК РООЈА			остов	OCTOBER 2018	
Course		Course Title	Course		Grade			Credits	Grade	ce=	SGPI=
Code			Credits	TH/PR	IA	۷٥	OVERALL	(c)		C x G	200
USCS101	Computer Organization & Design	n & Design	2	TO	Α+		B+	2	7	14	
USCS102	Programming with Python-I	hon-I	2	Α+	A+		A+	2	9	18	
USCS103	Free & Open Source Software	software	2	А	0		A	2	8	16	
USCS104	Database Systems		2	C	0		8+	2	7	14	
USCS1C5	Discrete Mathematics	* 0	2	n	Α+		B +	2	7	14	7.90
USCS106	Descriptive Statistics &	Descriptive Statistics & Introduction to Probabili	2	₩ +	A		B +	2	7	14	
USCS107	Soft Skills Development		2	B	8		D 3	2	6	12	
USCSP101	Practical of USCS101+USCS102	JSCS102	2	0	1		0	2	10	20	
USCSP102	Practical of USCS103+USCS104	JSCS104	2	Α+			0	2	10	20	
USCSP103 F	Practical of USCS105+USCS106	SCS106	2	A	-		A	2	Ø	16	
Remarks : SUCCESSFUL	CCESSFUL		20		Earned Credits: 20	edits : 2	0			ΣCG= 158	SGPI= 7.90
SEMESTER I		SEMESTER II	S	SEMESTER III	100 1	SEN	SEMESTER IV		Overall	Grado -	B
redits Earned = 20	SGPI = 7.90 Credits Earned =	dits Earned = SGPI =	Credits Earned =	1	SGPI = Credi	Credits Earned =	1	SGPI =	_	Over all Glade - bt	1



Chairperson, Exam. Committee



Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female

Principal

(Refer to grade table at the back)



PROGRAMME: BACHELOR OF COMPUTER SCIENCE

2018016401467333

PRN/Reg. No.

Examination Seat No.

13

PHATAK BHAVIK DNYAN ESHWAR POOJA DNYANESHWAR

REGULAR MARCH 2020

Name of the Learner

University of Mumbai

ISMAIL YUSUF COLLEGE

JOGESHWARI STATION ROAD, JOGES, WARI - EAST, MUMBAI - 400 060 (Affiliated to University of Mumbai) GRADE CARD Month & Year of Examination SEMESTER: IV Student Id 505092

1	Overall Grade - A	_							C-MECTED V	1 N 1 N 1 N 1 N 1 N 1 N 1 N 1 N 1 N 1 N
		20	SGPI = 8.20	SGPI = 8.70 Credits Earned = 20.00	8.70 Credit		Credits Earned = 20.00	SGPI = 7.90 Credits Earned = 20.00 SGPI = 8,30		redits Earned = 20,00
				SEMESTER IV		SEMESTER III	SE	SEMESTER II	EX L	SEME
SGPI= 8.20	164.00			Earned Credits: 20.00	ned Cre	Ea	20.00		JCCESSFUL	Remarks : SUCCESSFUL
	27.00	9	3.00	Α+	1	A+	3.00	+USCS407	USCS405+USCS406+USCS407	USCSP402
	27.00	9	3.00	A+	!	A+	3.00	2+USCSP403	USCS401+USCS402+USCSP403	
	18.00	9	2.00	. A+	A+	۸+	2.00	undamentals	Android Developer Fundamentals	USCS407
	20.00	10	2.00	0	0	A+	2.00		.NET Technologies	USCS406
8.20	16.00	8	2.00	А	B+	А	2.00	Python	Linear Algebra using Python	USCS405
	14.00	7	2.00	8+	0	В	2.00	g	Software Engineering	USCS404
	12.00	6	2.00	В	0	D	2.00		Computer Networks	USCS403
one one to design	16.00	8	2.00	A	0	I	2.00		Advanced JAVA	USCS402
	14.00	7	2.00	8+	Α	В	2.00	jorithms	Fundamentals of Algorithms	USCS401
20	CXG		_	OVERALL	IA	TH/PR	Credits			Code
2CG /	-	Grade Points	Credits		Grade		Course	Course Title		Course
			4			MATAK				

-

redits Earned := ---

SGPI = --- | Credits Earned = ---

SEMESTER VI

Overall Grade = A

SGPI = ---

SEMESTER V

Checked By:

Chairperson, Exam.



--- : Not Applicable, @ : 5043, # : 0.229, \$: Carried Forward, / : Female

(Refer to grade table at the back)

Principal

University of Mumbai GRADE CARD

CCF:86:0014

: PHATAK BHAVIK DNYANESHWAR POOJA

Examination : B.SC. (COMPUTER SCIENCE) (SEM V) (CBCGS)

Held In : DECEMBER 2020

Seat Number : 2133286 (PRN:2018016401467333)

Seat Number	: 2133286 (PRN:201	180164014	6/333)	4		O dito	Grade	Grade	CxG	
Course Code	Course Title	•	Maximum Marks	Minimum Marks	Marks Obtained	Credits (C)	Grade	Points (G)		
				30	75					
USCS501	ARTIFICIAL INTELLIGENCE	TH	75	3,	22					
	INTELLIGENCE	IA	25	10	97	3	О	10	30.00	
		TOTAL	100		75		=			
USCS502	LINUX SERVER	TH	75	30	23					
	ADMINISTRATION	IA	25	10	98	3	0	10	30.00	
		TOTAL	100		81	2	0	10	20.00	
USCSP501	PRACTICAL OF	PR	100	40	81					-
	ELECTIVE-I	T 11	75	30	64					
USCS504	INFORMATION AND NETWORK	TH	25	10	21					١
No. and Company	SECURITY	IA	100		85	3	0	10	30.00	
		TOTAL	75	30	58					
USCS506	WEB SERVICES	TH		10	20					
		IA	25	10	78@2	3	0	10	30.00	
		TOTAL	100	40	60	2	A	8	16.00	
USCSP502	PRACTICAL OF ELECTIVE-II	PR	100	40						
USCS507	GAME	TH	75	30	75					
0303307	PROGRAMMING	IA	25	10	18					
		TOTAL	100		93	2	0	10	20.00	
	PRACTICAL OF	PR	50	20	36	1	A+	9	9.00	
USCSP504	SKILL			A	Will be				. 5:37	
	ENHANCEMENT: USCS507			4.4.3						
USCSP503	PROJECT	PR	50	20	30	1	Α	8	8.00	
	IMPLEMENTATION		000		658@2	20			193.0	0
	GRAND TOTAL		800		050@2					\dashv

Remark: SUCCESSFUL

SGPI: 9.65

Result Declared On: FEBRUARY 26, 2021



DIRECTOR BOARD OF EXAMINATIONS AND EVALUATION

SEAT NO. NAME PAGE: 492
OFFICE PEGISTER FOR B.Sc. (COMPUTER SCIENCE) (SEM VI) (CBCGS) EXAMINATION - MAY 2021
CENTRE: 3 ANDHEKI MARKS 75/30 25/10 100 C G G GP C*GP 75/30 25/10 COURSE II -COURSE III - 2 COURSE IV - 3 COURSE V C G GP 75/30 25/10 100 C C*GP COURSE-VII---100/40 49*D COURSE VII - 2 COURSE VIII -COURSE-VIII ---><---- COURSE-IA 75/30 · 25/10 100 C G COURSE-IV -----GP C+GPAC Lace RSIT TOTAL -20 acg GPA GRADE

COLLEGE	75/30 25/10 100 C G GP C*GP 100/40 C G GP C	C GR 7770
		COURSE II : USCS 603 : CYBER FORENSICS
50: COMPUTER SCIENCE COURSE I :USCS602 COURSE III:USCSF601	601 :PRACTICAL OF ELECTIVE - I	1711
COURSE IV :USCSE604 COURSE VI:USCSE602 COURSE VI:USCSE602 1: ETHICAL HACKING COURSE VII:USCSE607	004 :INFORMATION RETRIEVAL 1602 :EPAJCTICAL OF ELECTIVE - II	COURSE VIII : USCSP604 : PRACTICAL OF SKILLEENHANGEREN
COURSE	PROJEC	P.RPV
3042233 KHAN IJHAN NABI HASAN KHAN TASHR IFUNNISA ISMAIL	74 0 23 0 97 3 0 10 30,00 51 A 22 0 73	3 A+ 9 27.00 J. Z0.00
Semester I -CREDIT:20 GP:150.00 SGP1: 7.50	65 O 19 A+ .84 3 O 10 30.00 55 2 B+ 7 14 Semester II -CREDIT :20 GP:156:00 SGP2: 7.80	11 O 83 2 0 10 20 20 20 20 20 20 20 20 20 20 20 20 20
3042234 KHAN SULTAN MOHD IBRAHEEM NOORJA	0,	Semester vi - Chuli 20 47 2 C 5 10 69 O 15 A 89 3 20 20 20 20 20 20 20 20 20 20 20 20 20
	A+ 14 B+	44 B+ 19 A+ 63 2 A 8 16.00 20 1 D 4 4 20 1 D
er IV -CREDIT: 20 GP:140.00 SGP1: 7.00	Semester II -CRED	
SQ42233 / MORE SHRULLINA SANUAL SANULVANI	0 23 0 9/ 3 0	3 0 10 30,00 85 2 0 20
		V 1 0 4
Semester I - CREDIT:20 GF:191.00 SGF4: 9.55 Semester IV - CREDIT:20 GF:191.00 SGF4: 9.55 3027236 MORE SUUBHAM DHONDIRAM PUSHPA	74 O 24 O 98 3 O 10 30.00 66 O 22 O 88	Semester II - CREDIT :20 GP:16.00 Sers: 6:50 Semester VI - CREDIT :20 GP6: 9.90 Semester VI - CREDIT :20 GP6: 9.90 PRIE 9 9 10 00 19 00
ISMAIL	O 86 3 O 10 30.00 45 2 C 5 10	60 0 21 0 81 2 0 10 20 00 28 1 B+ 7
I -CREDIT: 20 GB:120.00 SGP1: 6.00	Semester V -CREDIT : 20 GP:150.00 SGP2: 7.5	III -CREDIT :20 GP:152.00 SGP3: 7.60
3042237 NARKAR ADITYA CHANDRAKANT ERIYA 71	0 22 0	4 3 A+ 9 27.00 66 2 A . 8 16 68 O 19 A+ 87 3 0 10 30:00 P
	0 16 A 82 3 0 10 30.00 58 2 B+ 7 14	66 0 21 0 87 2 0, 10 20.00 23 1 C 5, 5 37 1 0 10 20.00 182.00 9.10
er I -CREDIT:20 GP:124.00 SGP1: 6.20 er IV -CREDIT:20 GP:119.00 SGP4: 5.95	Semester II -CREDIT :20 GP:1144.00 SGP2: 7.20 Semester V -CREDIT :20 SGP5: 8.45	Semester III -CREDIT::20 GP:150.00 SGP3: 7.50 Semester VI -CREDIT::20 SGP6: 9.10 FINAL CGPA 7.40
3042238 PATEL ASIF RAJA VAZIRBI 72	0 23 0 95 3 0 10 30 00 51 A 22 0	3 A+ 9 27.00 59 2 B+ 7 14 69 0 18 A+ 87 3 0 10 30
	O 16 A 84 3 0 10 30 00 30 Z B 6 1Z Semester II -CREDIT :20 GP:140.00 SGP2: 7.00	O 76 2 A+ 9 18.00 -CREDIT :20 GP:148.00 SGP3: 7.40
Semester IV -CREDIT:20 GP:144.00 SGP4: 7.20 3042239 FHATAK BHAVIK DNYANESHWAR POOJA 75 ISMAIL	O 20 O 95 3 O 10 30.00 63 O 22 O 8	Semester VI -CKEUIT :20 SGF6: 8.65 FINAL CGPA 7.45 85 3 O 10 30.00 67 2 A 8 16 71 O 20 O 91 3:-0 10 30.00 P.
emester	88 3 0 10 3 II -CREDIT :20	O 73 2 A+
3042240 RAWAT ARJUNSINGH CHARTSINGH PYAR 74	0 24 0 98 3 0 10 30.00 63 0 21 0 8	84 3 0 10 30,00 79 2 0 10 20 71 0 21 0 92 3 0 10 30,00 P
	O 20 O 88 3 O 10 30.00 76 2 A+ 9 18	56 A+ 7.2 O 78 2 O 1
Semester I -CREDIT:20 GP:158.00 SGP1: 7.90 Semester IV -CREDIT:20 GP:178.00 SGP4: 8.90	Semester II -CREDIT: 20 GP:168.00 SGP2: 8.40 Semester V -CREDIT: 20 SGP5: 9.45	Semester III -CREDIT :20 GP:170.00 SGP3: 8.50 Semester VI -CREDIT :20 SGP6: 9.80 FINAL CGPA 8.83
0 - 0.5042,0 - de GP:gradepoi	ADMISSION CANCELLED, points &CG:sum of pi	RR-RESERVED,:Fails in Theory or Practical,RPV - PROVISIONAL, RCC - 0.5050, A,ABS - ABSENT , F - UNSUCCESSFUL, P - SUCCESSFUL, coduct of credits & grades, Internal Marks are Provisional as per R.8668
MARKS : >=80 >=70 and <80 >=60	and <70 >=55 and <60 >=50 and <55	>=45 and <50



GRADE POINT :





PRINCIPAL ISMAIL YUSUF SENIOR COLLEGE

GOVT OF MAHARASHTRAS ISMAIL YUSUF OLLEGE OF ARTS SCIENCE COMMERCE JOGESHWARI EAST MUMBAI MUMBAI-400060

Date: 27-Sep-2021

e-Receipt for State Bank Collect Payment

SBCollect Reference Number

DUH4438154

Bank Reference Number

IGAMBZYYR6

Category

BONAFIED NOC AND T C FEES

FIRST NAME

Bhavik

MIDDLE NAME

Dnyaneshwar

LAST NAME

Phatak

DATE OF BIRTH

19/6/2000

GENDER

MALE

CATEGORY

GENERAL

MOBILE NO

9702360700

COURSE

Bsc Computer Science

BONAFIED FEES, NOC FEES, T C FEES

100

Transaction charge

11.80



https://www.onlinesbi.com/sbicollect/paymenthistory/paymenthistoryredirecturl.htm

9/27/21, 9:57 PM

Total Amount (In Figures)

111.80

Total Amount (In Words)

Rupees One Hundred Eleven and Paise Eighty Only

Remarks

Notification 1

BONAFIED FEES 20, NOC FEES 20, T C FEES 100

Notification 2

PRINT COPY AND SUBMIT TO COLLEGE





Thakur Educational Trust's (Regd.)

UR COLLEGE OF SCIENCE & COMMERCE

AUTONOMOUS COLLEGE PERMANENTLY AFFILIATED TO UNIVERSITY OF MUMBAI NAAC Accredited Grade 'A' (3rd Cycle) & ISO 9001: 2015 (Certified)

Form Submitted By Student

Form Unique ID: 2E0PX2ZGW9

Student Details

Name: Phatak Bhavik Dnyaneshwar Pooja

Email: bhavikphatak12@gmail.com

Mother Tongue: Hindi

Transaction ID: 21072799984214

Undergraduate Details

Exam Date: May 2021

Sem V Details

Sem V Percentage: 82.50%

Sem V Marks Obtained: 660

Sem V Grade: None

Sem VI Details

Sem VI Percentage: 79.37%

Sem VI Marks Obtained: 635

Sem VI Grade: None

Course applied for: MSc Computer Science

Phone: 9702360700

Are you MU student? Yes

Transaction Date: 27/07/2021

Sem V SGPA: 9.65

Sem V Total Marks: 800

Sem VI SGPA: 9.35

Sem VI Total Marks: 800

Declaration by Student

I hereby declare that I have read the rules related to admission and the information filled in by me in this form is accurate and true to the bes my knowledge. I will be responsible for any discrepancy, arising out of the form signed by me and I undertake that in absence of any docume the final admission will not be granted and/or admission will stand cancelled. I am aware of the Maharashtra Prohibition of Ragging Act 1999 I state that I will abide by all the rules and regulations of the said Act.

Declaration by Parent/Guardian

I have permitted my son/daughter/ward to join your college. The information supplied by him/her is correct to the best of my knowledge. I